# CORRIGENDUM AND ADDENDUM TO "STRUCTURE MONOIDS OF SET-THEORETIC SOLUTIONS OF THE YANG-BAXTER EQUATION"

## FERRAN CEDÓ, ERIC JESPERS, AND CHARLOTTE VERWIMP

Abstract: One of the results in our article which appeared in Publ. Mat. **65(2)** (2021), 499–528, is that the structure monoid M(X, r) of a left non-degenerate solution (X, r) of the Yang–Baxter equation is a left semi-truss, in the sense of Brzeziński, with an additive structure monoid that is close to being a normal semigroup. Let  $\eta$  denote the least left cancellative congruence on the additive monoid M(X, r). It is then shown that  $\eta$  is also a congruence on the multiplicative monoid M(X, r)and that the left cancellative epimorphic image  $\overline{M} = M(X, r)/\eta$  inherits a semi-truss structure and thus one obtains a natural left non-degenerate solution of the Yang–Baxter equation on  $\overline{M}$ . Moreover, it restricts to the original solution r for some interesting classes, in particular if (X, r)is irretractable. The proof contains a gap. In the first part of the paper we correct this mistake by introducing a new left cancellative congruence  $\mu$  on the additive monoid M(X, r), and show that it also yields a left cancellative congruence on the multiplicative monoid M(X, r), and we obtain a semi-truss structure on  $M(X, r)/\mu$  that also yields a natural left non-degenerate solution.

In the second part of the paper we start from the least left cancellative congruence  $\nu$  on the multiplicative monoid M(X, r) and show that it is also a congruence on the additive monoid M(X, r) in the case where r is bijective. If, furthermore, r is left and right non-degenerate and bijective, then  $\nu = \eta$ , the least left cancellative congruence on the additive monoid M(X, r), extending an earlier result of Jespers, Kubat, and Van Antwerpen to the infinite case.

2020 Mathematics Subject Classification: 16T25, 20M05.

Key words: Yang-Baxter equation, set-theoretic solution, structure monoid, 1-cocycle, semi-truss.

#### 1. Introduction

We have detected a mistake in the proof of [3, Lemma 5.5]. What is correctly proved is the following result for a left non-degenerate solution (X, r) of the Yang–Baxter equation (YBE) with structure monoid M = M(X, r). Write  $r(x, y) = (\sigma_x(y), \gamma_y(x))$ . Thus, all  $\sigma_x$  are bijective maps. Its additive structure is denoted by (M, +) and its multiplicative structure by  $(M, \circ)$ . The least cancellative congruence on (M, +) is denoted by  $\eta$ . Let  $\lambda' \colon (M, \circ) \to \operatorname{End}(M, +)$  denote the unique monoid homomorphism such that  $\lambda'(x)(y) = \sigma_x(y)$  for  $x, y \in X$  (see Proposition 3.1 in [3]).

**Lemma 1.1.** With the same notation as in [3, Lemma 5.5] we have  $\eta = \eta'$ . Furthermore, for all  $z \in M$ ,

$$\eta = \{ (\lambda'_z(a), \lambda'_z(b)) \mid (a, b) \in \eta \} = \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \eta \}.$$

We do not know whether  $\lambda'_a = \lambda'_b$ , for all  $(a, b) \in \eta$ , and whether  $\eta$  is a congruence on  $(M, \circ)$ . As a consequence [3, Remark 5.6, Corollaries 5.9 and 5.10] are not

The first author was partially supported by the grant MINECO PID2020-113047GB-I00 (Spain). The second author was supported in part by Onderzoeksraad of Vrije Universiteit Brussel and Fonds voor Wetenschappelijk Onderzoek (Belgium). The third author is supported by Fonds voor Wetenschappelijk Onderzoek (Flanders), via an FWO aspirant mandate.

proved. Therefore [3, Question 5.7] and the definition of an injective left non-degenerate solution of the YBE given in [3] have no sense. In Section 2 we will introduce a new congruence on (M, +) and prove a correct version of the listed corollaries.

In Section 3, we start from the least left cancellative congruence  $\nu$  on the multiplicative monoid  $(M, \circ)$  and show that it is also a congruence on the additive monoid (M, +) in the case where r is bijective. If furthermore r is left and right non-degenerate and bijective, then  $\nu = \eta$ , the least left cancellative congruence on the additive monoid (M, +), extending an earlier result of Jespers, Kubat, and Van Antwerpen to the infinite case.

# 2. Correction of [3, Section 5]

In this section, we shall introduce a new congruence  $\mu$  on (M, +) such that it is also a congruence on  $(M, \circ)$ ,  $(M, +)/\mu$  is left cancellative, and  $((\lambda'_a)^{\varepsilon}(b), (\lambda'_{a'})^{\varepsilon}(b')) \in \mu$ , for all  $(a, a'), (b, b') \in \mu$  and  $\varepsilon \in \{-1, 1\}$ . Furthermore,  $\mu$  is the least binary relation on M with these properties.

We first recall the definition of a left semi-truss.

**Definition 2.1** (Brzeziński [1]). A left semi-truss is a quadruple  $(A, +, \circ, \phi)$  such that (A, +) and  $(A, \circ)$  are semigroups and  $\phi: A \times A \to A$  is a function such that

$$a \circ (b+c) = (a \circ b) + \phi(a,c),$$

for all  $a, b, c \in A$ .

**Example 2.2** ([3, Example 5.2]). Let (X, r) be a left non-degenerate set-theoretic solution of the YBE (not necessarily bijective). Again write  $r(x, y) = (\sigma_x(y), \gamma_y(x))$ , for  $x, y \in X$ . As stated in [3, Section 3], and with the same notation, the map

$$r'(x,y) = (y, \sigma_y \gamma_{\sigma_x^{-1}(y)}(x))$$

defines the left derived solution on X. Let M = M(X, r) and M' = A(X, r) = M(X, r')be the structure monoids of the solutions (X, r) and (X, r') respectively. From [3, Corollary 3.9 and Proposition 3.1] we obtain a left action  $\lambda' : (M, \circ) \to \operatorname{Aut}(M', +)$ and a bijective 1-cocycle  $\pi : M \to M'$  with respect to  $\lambda'$  satisfying  $\lambda'(x)(y) = \sigma_x(y)$ and  $\pi(x) = x$ , for all  $x, y \in X$ . We identify M and M' via  $\pi$ , that is,  $a = \pi(a)$  for all  $a \in M$ . With this identification, we obtain the operation + on M, and  $a \circ b =$  $a + \lambda'_a(b)$ , for all  $a, b \in M$ . Put  $\phi(a, b) = \lambda'_a(b)$ , for all  $a, b \in M$ . Then,

$$a \circ (b+c) = a + \lambda'_a(b+c) = a + \lambda'_a(b) + \lambda'_a(c) = (a \circ b) + \phi(a,c)$$

for all  $a, b \in M$ . Furthermore,  $M + a \subseteq a + M$ , for all  $a \in M$ . Hence  $(M, +, \circ, \phi)$  is a left semi-truss. Note that if, furthermore, r is bijective, then it can easily be verified that (X, r') is a right non-degenerate solution and thus M + a = a + M for all  $a \in M$ ; that is, (M, +) consists of normal elements. As shown in [4], this property is fundamental in the study of the associated structure algebra KM(X, r), where K is a field.

We will use the assumptions and notations as in Example 2.2.

Let

$$\mu_0 = \{ (a, b) \in M^2 \mid \exists c \in M \text{ such that } c + a = c + b \}.$$

Note that  $\mu_0$  is a reflexive and symmetric binary relation on M. Let  $\mu_1$  be its transitive closure, that is,

$$\mu_1 = \{ (a,b) \in M^2 \mid \exists a_1, \dots, a_n \in M \text{ such that } (a,a_1), (a_1,a_2), \dots, (a_n,b) \in \mu_0 \}.$$

Thus  $\mu_1$  is an equivalence relation on M. Let

$$\begin{split} \mu_2 &= \{ ((\lambda'_z)^{\varepsilon} (a \circ c), (\lambda'_z)^{\varepsilon} (b \circ c)) \in M^2 \mid z, c \in M, \, \varepsilon \in \{-1, 1\}, \text{ and } (a, b) \in \mu_1 \}, \\ \mu_3 &= \{ (a, b) \in M^2 \mid \exists \, a_1, \dots, a_n \in M \text{ such that } (a, a_1), (a_1, a_2), \dots, (a_n, b) \in \mu_2 \}, \\ \mu_4 &= \{ (c + a + d, c + b + d) \in M^2 \mid c, d \in M \text{ and } (a, b) \in \mu_3 \} \\ &\cup \{ (a, b) \in M^2 \mid \exists \, c \in M \text{ such that } (c + a, c + b) \in \mu_3 \}, \end{split}$$

and for every  $m \ge 1$  we define

$$\begin{split} \mu_{4m+1} &= \{ (a,b) \in M^2 \mid \exists a_1, \dots, a_n \in M \text{ such that } (a,a_1), (a_1,a_2), \dots, (a_n,b) \in \mu_{4m} \}, \\ \mu_{4m+2} &= \{ ((\lambda'_z)^{\varepsilon} (a \circ c), (\lambda'_z)^{\varepsilon} (b \circ c)) \in M^2 \mid z, c \in M, \ \varepsilon \in \{-1,1\}, \text{ and } (a,b) \in \mu_{4m+1} \}, \\ \mu_{4m+3} &= \{ (a,b) \in M^2 \mid \exists a_1, \dots, a_n \in M \text{ such that } (a,a_1), (a_1,a_2), \dots, (a_n,b) \in \mu_{4m+2} \}, \\ \mu_{4(m+1)} &= \{ (c+a+d,c+b+d) \in M^2 \mid c,d \in M \text{ and } (a,b) \in \mu_{4m+3} \} \end{split}$$

$$\cup \{(a,b) \in M^2 \mid \exists c \in M \text{ such that } (c+a,c+b) \in \mu_{4m+3}\}.$$

Note that  $\mu_n \subseteq \mu_{n+1}$ , for all  $n \ge 0$ . Let  $\mu = \bigcup_{n=0}^{\infty} \mu_n$ .

**Lemma 2.3.** With the above notation, we have that  $\mu$  is a congruence on (M, +)and it is also a congruence on  $(M, \circ)$ . Furthermore,  $(M, +)/\mu$  and  $(M, \circ)/\mu$  are left cancellative monoids, and

$$(\lambda'_c(a), \lambda'_d(b)), ((\lambda'_c)^{-1}(a), (\lambda'_d)^{-1}(b)) \in \mu,$$

for all  $(a, b), (c, d) \in \mu$ .

Proof: First we shall prove that  $\mu$  is a congruence on (M, +). Clearly  $\mu$  is reflexive and symmetric because so is each  $\mu_n$ . Let  $a, b, c \in M$  be such that  $(a, b), (b, c) \in \mu$ . There exists a positive integer m such that  $(a, b), (b, c) \in \mu_{2m}$ . Since  $\mu_{2m+1}$  is the transitive closure of  $\mu_{2m}$ , we have that  $(a, c) \in \mu_{2m+1} \subseteq \mu$ . Hence  $\mu$  is an equivalence relation.

Let  $(a,b) \in \mu$  and  $c,d \in M$ . There exists a positive integer k such that  $(a,b) \in \mu_{4k+3}$ . Thus,  $(c+a+d,c+b+d) \in \mu_{4(k+1)} \subseteq \mu$ . Hence,  $\mu$  is a congruence on (M, +).

Let  $(c, c') \in \mu$  and  $a, b \in M$  be such that  $(c+a, c'+b) \in \mu$ . Since  $\mu$  is a congruence on (M, +), we have that  $(c'+a, c+a) \in \mu$ . Hence,  $(c'+a, c'+b) \in \mu$ . There exists a positive integer m such that  $(c'+a, c'+b) \in \mu_{4m+3}$ . Hence  $(a, b) \in \mu_{4(m+1)} \subseteq \mu$ . Therefore,  $(M, +)/\mu$  is a left cancellative monoid.

Let  $(a, b) \in \mu$  and  $c, d \in M$ . There exists a positive integer k such that  $(a, b) \in \mu_{4k+1}$ . It follows that  $(\lambda'_d(a \circ c), \lambda'_d(b \circ c)) \in \mu_{4k+2}$  and  $(d \circ a \circ c, d \circ b \circ c) = (d + \lambda'_d(a \circ c), d + \lambda'_d(b \circ c)) \in \mu_{4(k+1)} \subseteq \mu$ . Hence,  $\mu$  is a congruence on  $(M, \circ)$ .

Let  $(c, c') \in \mu$  and  $a, b \in M$  be such that  $(c \circ a, c' \circ b) \in \mu$ . Since  $\mu$  is a congruence on  $(M, \circ)$ , we have that  $(c' \circ a, c \circ a) \in \mu$ . Hence  $(c' + \lambda_{c'}(a), c' + \lambda_{c'}(b)) = (c' \circ a, c' \circ b) \in \mu$ . Since  $(M, +)/\mu$  is a left cancellative monoid we get that  $(\lambda_{c'}(a), \lambda_{c'}(b)) \in \mu$ . Now there exists a positive integer m such that  $(\lambda_{c'}(a), \lambda_{c'}(b)) \in \mu_{4m+1}$ , and thus  $(a, b) \in \mu_{4m+2} \subseteq \mu$ . Therefore  $(M, \circ)/\mu$  is a left cancellative monoid.

Let  $(a, b), (c, d) \in \mu$ . Since  $\mu$  is a congruence on  $(M, \circ)$ , we have that

$$(c + \lambda'_c(x), d + \lambda'_d(x)) = (c \circ x, d \circ x) \in \mu,$$

for all  $x \in M$ . Since  $(M, +)/\mu$  is a left cancellative monoid, we get that  $(\lambda'_c(x), \lambda'_d(x)) \in \mu$ , for all  $x \in M$ . For  $x = (\lambda'_c)^{-1}(y)$ , we have that

$$(y, \lambda'_d(\lambda'_c)^{-1}(y)) \in \mu,$$

for all  $y \in M$ . Thus, there exists a positive integer m such that  $(y, \lambda'_d(\lambda'_c)^{-1}(y)) \in \mu_{4m+1}$ . Hence  $((\lambda'_d)^{-1}(y), (\lambda'_c)^{-1}(y)) \in \mu_{4m+2}$ . Therefore,

$$((\lambda'_d)^{-1}(y), (\lambda'_c)^{-1}(y)) \in \mu,$$

for all  $y \in M$ . Now there exists a positive integer k such that

$$((\lambda'_d)^{-1}(a), (\lambda'_c)^{-1}(a)), (\lambda'_d(a), \lambda'_c(a)), (a, b) \in \mu_{4k+1}.$$

Hence,

$$((\lambda'_c)^{-1}(a), (\lambda'_d)^{-1}(a)), ((\lambda'_d)^{-1}(a), (\lambda'_d)^{-1}(b)), (\lambda'_c(a), \lambda'_d(a))(\lambda'_d(a), \lambda'_d(b)) \in \mu_{4k+2},$$

and thus,

$$(\lambda'_c(a), \lambda'_d(b)), ((\lambda'_c)^{-1}(a), (\lambda'_d)^{-1}(b)) \in \mu_{4k+3}$$

Therefore,

$$(\lambda'_{c}(a),\lambda'_{d}(b)),((\lambda'_{c})^{-1}(a),(\lambda'_{d})^{-1}(b))\in\mu,$$

for all  $(a, b), (c, d) \in \mu$ , and the result follows.

With the assumptions and notations as in Example 2.2, let  $\overline{M} = M/\mu$  and let  $M \to \overline{M} : a \mapsto \overline{a}$  be the natural map. Let  $\overline{\lambda} : (\overline{M}, \circ) \to \operatorname{Aut}(\overline{M}, +)$  be the map defined by  $\overline{\lambda}(\overline{a}) = \overline{\lambda}_{\overline{a}}$  and  $\overline{\lambda}_{\overline{a}}(\overline{b}) = \overline{\lambda'_a(b)}$ , for all  $a, b \in M$ .

Note that  $\bar{\lambda}$  is well defined, because if  $\bar{c} = \bar{a}$  and  $\bar{d} = \bar{b}$ , then, by Lemma 2.3,

 $\overline{\lambda_a'(b)} = \overline{\lambda_c'(d)}.$ 

Now it is easy to check that  $\bar{\lambda}_{\bar{a}} \in \operatorname{Aut}(\bar{M}, +)$ ; in fact  $(\bar{\lambda}_{\bar{a}})^{-1} \colon \bar{M} \to \bar{M}$  is the map defined by  $(\bar{\lambda}_{\bar{a}})^{-1}(\bar{b}) = \overline{(\lambda'_a)^{-1}(b)}$ , which is also well defined by Lemma 2.3. Furthermore, by Lemma 2.3,  $(\bar{M}, \circ)$  is left cancellative and  $\bar{\lambda}$  is a homomorphism such that  $\bar{a} \circ \bar{b} = \bar{a} + \bar{\lambda}_{\bar{a}}(\bar{b})$ , for all  $a, b \in M$ .

Let  $\bar{\phi} \colon \bar{M} \times \bar{M} \to \bar{M}$  be the map defined by  $\bar{\phi}(\bar{a}, \bar{b}) = \bar{\lambda}_{\bar{a}}(\bar{b})$ , for all  $a, b \in M$ . Then  $(\bar{M}, +, \circ, \bar{\phi})$  is a left semi-truss.

By [3, Lemma 5.8], the left cancellative monoid  $(\overline{M}, +)$  satisfies that for all  $\overline{a}, \overline{b} \in \overline{M}$ there exists a unique  $\overline{c} \in \overline{M}$  (denoted as  $c(\overline{a}, \overline{b})$ ) such that  $\overline{a} + \overline{b} = \overline{b} + \overline{c}$ . Hence, from [3, Proposition 5.4], we have the following corollary.

**Corollary 2.4.** Let (X, r) be a left non-degenerate set-theoretic solution of the YBE. Let  $\mu$  be the congruence on M = (M(X, r'), +) defined above. Then  $(\bar{M}, +, \circ, \bar{\phi})$  is a left semi-truss with  $\bar{M} + \bar{a} \subseteq \bar{a} + \bar{M}$  for all  $\bar{a} \in \bar{M}$  and with  $\bar{\phi}(\bar{a}, \bar{b}) = \bar{\lambda}_{\bar{a}}(\bar{b})$ , for all  $\bar{a}, \bar{b} \in \bar{M}$ . Furthermore,  $(\bar{M}, \bar{r})$ , where

$$\bar{r}(\bar{a},\bar{b}) = (\bar{\lambda}_{\bar{a}}(\bar{b}), \bar{\lambda}_{\bar{\lambda}_{\bar{a}}(\bar{b})}^{-1}(c(\bar{a},\bar{\lambda}_{\bar{a}}(\bar{b})))),$$

for all  $\bar{a}, \bar{b} \in \bar{M}$ , is a left non-degenerate set-theoretic solution of the YBE. In particular,  $(\bar{X}, \bar{r}_{|\bar{X}^2})$  is a left non-degenerate solution on the image  $\bar{X}$  of X in  $\bar{M}$ .

Corrigendum and addendum to "Structure monoids..."

# 3. Addendum

In this section, we will generalize the first part of [4, Proposition 4.2]. Let  $\eta$  be the left cancellative congruence on (M, +), defined in [3]. For a left non-degenerate solution (X, r), we will define the (least) left cancellative congruence on  $(M, \circ)$ , say  $\nu$ , and show that  $\eta = \nu$  and  $\lambda'_a = \lambda'_b$ , for all  $(a, b) \in \eta$ , in the case where the solution is bijective and (left and right) non-degenerate. Again we will follow the notation of [3].

Let  $\nu$  be the left cancellative congruence on  $(M, \circ)$ , that is,  $\nu$  is the smallest congruence such that  $\overline{M} = (M, \circ)/\nu$  is a left cancellative monoid.

We shall give a description of the elements in  $\nu$ . Let

$$\nu_0 = \{ (a,b) \in M^2 \mid \exists c \in M \text{ such that } c \circ a = c \circ b \}.$$

Note that  $\nu_0$  is a reflexive and symmetric binary relation on M. Let  $\nu_1$  be its transitive closure, that is,

 $\nu_1 = \{(a,b) \in M^2 \mid \exists a_1, \ldots, a_n \in M \text{ such that } (a,a_1), (a_1,a_2), \ldots, (a_n,b) \in \nu_0\}.$ Thus,  $\nu_1$  is an equivalence relation on M. Let

$$\nu_2 = \{ (c \circ a, c \circ b) \in M^2 \mid c \in M \text{ and } (a, b) \in \nu_1 \}$$

$$\cup \{(a,b) \in M^2 \mid \exists c \in M \text{ such that } (c \circ a, c \circ b) \in \nu_1\},\$$

and for every  $m \ge 1$  we define

 $\nu_{2m+1} = \{(a,b) \in M^2 \mid \exists a_1, \dots, a_n \in M \text{ such that } (a,a_1), (a_1,a_2), \dots, (a_n,b) \in \nu_{2m}\}$ and

$$\nu_{2m+2} = \{ (c \circ a, c \circ b) \in M^2 \mid c \in M \text{ and } (a, b) \in \nu_{2m+1} \} \\ \cup \{ (a, b) \in M^2 \mid \exists c \in M \text{ such that } (c \circ a, c \circ b) \in \nu_{2m+1} \}.$$

Note that  $\nu_n \subseteq \nu_{n+1} \subseteq \nu$  for all  $n \ge 0$ . Let  $\nu' = \bigcup_{n=0}^{\infty} \nu_n$ .

**Lemma 3.1.** With the above notation we have that  $\nu' = \nu$  and  $\lambda'_a = \lambda'_b$ , for all  $(a, b) \in \nu$ . Furthermore, if r is bijective, then for all  $z \in M$ ,

$$\nu \supseteq \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu \}_{:}$$

and  $\nu$  is also a congruence on (M, +).

Proof: First we shall prove that  $\nu'$  is a congruence on  $(M, \circ)$ . Clearly  $\nu'$  is reflexive and symmetric because so is each  $\nu_n$ . Let  $a, b, c \in M$  be such that  $(a, b), (b, c) \in \nu'$ . There exists a positive integer m such that  $(a, b), (b, c) \in \nu_{2m}$ . Since  $\nu_{2m+1}$  is the transitive closure of  $\nu_{2m}$ , we have that  $(a, c) \in \nu_{2m+1} \subseteq \nu'$ . Hence  $\nu'$  is an equivalence relation. Note that every  $\nu_n$  satisfies that  $(x \circ z, y \circ z) \in \nu_n$ , for all  $(x, y) \in \nu_n$ . Thus  $(a \circ c, b \circ c) \in \nu_{2m} \subseteq \nu'$ . Since  $(a, b) \in \nu_{2m} \subseteq \nu_{2m+1}$ , we have that  $(c \circ a, c \circ b) \in$  $\nu_{2m+2} \subseteq \nu'$ . Therefore,  $\nu'$  is a congruence.

Let  $a, b, c, c' \in M$  be elements such that  $(c, c'), (c \circ a, c' \circ b) \in \nu'$ . Since  $\nu'$  is a congruence on  $(M, \circ), (c' \circ b, c \circ b) \in \nu'$ . Hence  $(c \circ a, c \circ b) \in \nu'$ . There exists a positive integer t such that  $(c \circ a, c \circ b) \in \nu_{2t+1}$ . Thus  $(a, b) \in \nu_{2t+2} \subseteq \nu'$ . Hence  $(M, \circ)/\nu'$  is a left cancellative monoid. Since  $\nu' \subseteq \nu$ , we have  $\nu' = \nu$  by the definition of  $\nu$ .

Let  $(a, b) \in \nu_0$ . Then there exists  $c \in M$  such that  $c \circ a = c \circ b$ . Hence,

$$\lambda_c'\lambda_a' = \lambda_c'\lambda_b'$$

and thus  $\lambda'_a = \lambda'_b$ , for all  $(a, b) \in \nu_0$ . Let n > 0 and suppose that  $\lambda'_a = \lambda'_b$ , for all  $(a, b) \in \nu_{n-1}$ . If n-1 is even, then for every  $(a, b) \in \nu_n$  there exist  $(a, c_1), (c_1, c_2), \ldots, (c_k, b) \in \nu_{n-1}$ . By the induction hypothesis  $\lambda'_a = \lambda'_{c_1} = \cdots = \lambda'_{c_k} = \lambda'_b$ . If n-1 is odd and  $(a, b) \in \nu_n$ , then either  $(a, b) = (c \circ a', c \circ b')$ , for some  $c \in M$  and  $(a', b') \in \nu_{n-1}$ , or

there exists  $c \in M$  such that  $(c \circ a, c \circ b) \in \nu_{n-1}$ . In the first case, by the induction hypothesis, we have that

$$\lambda'_a = \lambda'_{c \circ a'} = \lambda'_c \lambda'_{a'} = \lambda'_c \lambda'_{b'} = \lambda'_{c \circ b'} = \lambda'_b$$

In the second case, by the induction hypothesis, we have that

$$\lambda_c'\lambda_a' = \lambda_{c\circ a}' = \lambda_{c\circ b}' = \lambda_c'\lambda_b',$$

and thus  $\lambda'_a = \lambda'_b$ . Hence, we get that  $\lambda'_a = \lambda'_b$ , for all  $(a, b) \in \nu_n$ . Hence, by induction, we have that  $\lambda'_a = \lambda'_b$ , for all  $(a, b) \in \nu$ .

Suppose that r is bijective. By Example 2.2, we have that M + a = a + M, for all  $a \in M$ . Let  $(a, b) \in \nu_0$ . Then there exists  $c \in M$  such that  $c \circ a = c \circ b$ . Let  $y \in M$ . We have that there exists  $z \in M$  such that z + c = c + y. Hence,

$$\begin{split} (\lambda'_z)^{-1}(c \circ a) &= (\lambda'_z)^{-1}(c + \lambda'_c(a)) \\ &= (\lambda'_z)^{-1}(c) + (\lambda'_z)^{-1}\lambda'_c(a) \\ &= (\lambda'_z)^{-1}(c) \circ (\lambda'_{(\lambda'_z)^{-1}(c)})^{-1}(\lambda'_z)^{-1}\lambda'_c(a) \\ &= (\lambda'_z)^{-1}(c) \circ (\lambda'_{z\circ(\lambda'_z)^{-1}(c)})^{-1}\lambda'_c(a) \\ &= (\lambda'_z)^{-1}(c) \circ (\lambda'_{c+y})^{-1}\lambda'_c(a) \\ &= (\lambda'_z)^{-1}(c) \circ (\lambda'_{c\circ(\lambda'_c)^{-1}(y)})^{-1}\lambda'_c(a) \\ &= (\lambda'_z)^{-1}(c) \circ (\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(\lambda'_c)^{-1}\lambda'_c(a) \\ &= (\lambda'_z)^{-1}(c) \circ (\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(a). \end{split}$$

Since  $c \circ a = c \circ b$ , we have that

$$(\lambda'_{z})^{-1}(c) \circ (\lambda'_{(\lambda'_{c})^{-1}(y)})^{-1}(a) = (\lambda'_{z})^{-1}(c) \circ (\lambda'_{(\lambda'_{c})^{-1}(y)})^{-1}(b).$$

We get that

$$((\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(a), (\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(b)) \in \nu_0,$$

for all  $y \in M$ . Hence,

$$\nu_0 \supseteq \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu_0 \},\$$

for all  $z \in M$ . Let n be a positive integer and suppose that

$$\nu_{n-1} \supseteq \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu_{n-1} \},\$$

for all  $z \in M$ . Let  $(a, b) \in \nu_n$ . If n is odd, then there exist  $(a, c_1), (c_1, c_2), \ldots, (c_k, b) \in \nu_{n-1}$ . By the induction hypothesis,

 $((\lambda'_{z})^{-1}(a), (\lambda'_{z})^{-1}(c_{1})), ((\lambda'_{z})^{-1}(c_{1}), (\lambda'_{z})^{-1}(c_{2})), \dots, ((\lambda'_{z})^{-1}(c_{k}), (\lambda'_{z})^{-1}(b)) \in \nu_{n-1}.$ Hence  $((\lambda'_{z})^{-1}(a), (\lambda'_{z})^{-1}(b)) \in \nu_{n}$ , in this case. If n is even, then either  $(a, b) = (c \circ a', c \circ b')$ , for some  $c \in M$  and  $(a', b') \in \nu_{n-1}$ , or there exists  $c \in M$  such that  $(c \circ a, c \circ b) \in \nu_{n-1}$ . In the first case,

$$(\lambda'_z)^{-1}(a) = (\lambda'_z)^{-1}(c) \circ (\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(a'),$$

and

$$(\lambda'_z)^{-1}(b) = (\lambda'_z)^{-1}(c) \circ (\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(b'),$$

where z + c = c + y. Hence, by the induction hypothesis,  $((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \in \nu_n$ , in this case. In the second case, by the induction hypothesis,

$$((\lambda'_z)^{-1}(c \circ a), (\lambda'_z)^{-1}(c \circ b)) \in \nu_{n-1}.$$

Since  $(\lambda'_z)^{-1}(c \circ a) = (\lambda'_z)^{-1}(c) \circ (\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(a)$ , we have that

$$((\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(a), (\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(b)) \in \nu_n.$$

Since M + c = c + M,

$$((\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(a), (\lambda'_{(\lambda'_c)^{-1}(y)})^{-1}(b)) \in \nu_n,$$

for all  $y \in M$ . Hence,

$$\nu_n \supseteq \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu_n \},\$$

for all  $z \in M$ . By induction, we get that

$$\nu \supseteq \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu \},\$$

for all  $z \in M$ .

Let  $(a, b) \in \nu$ . Then for every  $c \in M$ , we have that

$$(c+a, c+b) = (c \circ (\lambda'_c)^{-1}(a), c \circ (\lambda'_c)^{-1}(b)) \in \nu.$$

Since  $\lambda'_a = \lambda'_b$ , we have that

$$(a+c,b+c) = (a \circ (\lambda'_a)^{-1}(c), b \circ (\lambda'_b)^{-1}(c)) = (a \circ (\lambda'_a)^{-1}(c), b \circ (\lambda'_a)^{-1}(c)) \in \nu.$$

Hence  $\nu$  is a congruence on (M, +), and the result follows.

In order to prove the main result of this section, we first show that, for left nondegenerate set-theoretic solutions of the YBE, the maps  $\lambda$  and  $\lambda'$  are equal. Here  $\lambda$  is the unique monoid homomorphism  $M \to \operatorname{Map}(M, M) : a \mapsto \lambda_a$  defined in [3, Theorem 2.1] such that  $\lambda_b(a \circ c) = \lambda_b(a) \circ \lambda_{\rho_a(b)}(c)$  and  $\rho_b(c \circ a) = \rho_{\lambda_a(b)}(c) \circ \rho_b(a)$ , where also  $\rho \colon M \to \operatorname{Map}(M, M)$  is the monoid anti-homomorphism defined in [3, Theorem 2.1]. This result comes from [2], but for completeness' sake we include a proof.

**Lemma 3.2.** Let (X, r) be a set-theoretic solution of the YBE. Let M = M(X, r) and M' = A(X, r). As usual, write  $r(x, y) = (\sigma_x(y), \gamma_y(x))$ . Then,  $\lambda'_a(\pi(b)) = \pi(\lambda_a(b))$ , for all  $a, b \in M$ , where  $\pi \colon M \to M'$  is the unique 1-cocycle with respect to the left action  $\lambda'$  such that  $\pi(x) = x$ , for all  $x \in X$ . Furthermore, if (X, r) is left non-degenerate, then, with the identification of M and M' in Example 2.2,  $\lambda'_a(b) = \lambda_a(b)$ , for all  $a, b \in M$ . In particular,

(1) 
$$\lambda'_{x}(x_{1} \circ \cdots \circ x_{k} \circ a) = \lambda'_{x}(x_{1} \circ \cdots \circ x_{k}) \circ \lambda'_{\gamma_{x_{k}} \cdots \gamma_{x_{1}}(x)}(a),$$

for all  $x, x_1, \ldots, x_k \in X$  and  $a \in M$ .

Proof: The existence and uniqueness of  $\pi$  is proved in [3, Proposition 3.2]. Let  $b \in M$ . There exist a non-negative integer k and  $x_1, \ldots, x_k \in X$  such that  $b = x_1 \circ \cdots \circ x_k$ . We first prove that  $\lambda'_x(\pi(b)) = \pi(\lambda_x(b))$ , for all  $x \in X$ , by induction on k. If k = 0, then  $\pi(1) = 0$  and by the definition of  $\lambda$ ,  $\lambda_x(1) = 1$ . Hence  $\lambda'_x(\pi(1)) = \lambda'_x(0) = 0 = \pi(1) = \pi(\lambda_x(1))$ . For k = 1,

$$\pi(\lambda_x(x_1)) = \sigma_x(x_1) = \sigma_x(\pi(x_1)) = \lambda'_x(\pi(x_1)).$$

Suppose that k > 1 and we have proved the result for words in M(X, r) of length at most k - 1. By the definition of  $\lambda$ , [3, Theorem 2.1], and the induction hypothesis, we have

$$\begin{aligned} \pi(\lambda_x(b)) &= \pi(\lambda_x(x_1 \circ \cdots \circ x_k)) \\ &= \pi(\lambda_x(x_1) \circ \lambda_{\rho_{x_1}(x)}(x_2 \circ \cdots \circ x_k)) \\ &= \pi(\lambda_x(x_1)) + \lambda'_{\lambda_x(x_1)}(\pi(\lambda_{\rho_{x_1}(x)}(x_2 \circ \cdots \circ x_k))) \\ &= \lambda'_x(\pi(x_1)) + \lambda'_{\lambda_x}(x_1)(\lambda'_{\rho_{x_1}(x)}(\pi(x_2 \circ \cdots \circ x_k))) \\ &= \lambda'_x(\pi(x_1)) + \lambda'_x(\lambda'_{x_1}(\pi(x_2 \circ \cdots \circ x_k))) \\ &= \lambda'_x(\pi(x_1) + \lambda'_{x_1}(\pi(x_2 \circ \cdots \circ x_k))) \\ &= \lambda'_x(\pi(x_1 \circ \cdots \circ x_k)) \\ &= \lambda'_x(\pi(b)). \end{aligned}$$

Hence, by induction  $\lambda'_x(\pi(b)) = \pi(\lambda_x(b))$ , for all  $x \in X$  and  $b \in M$ . Using that both  $\lambda$  and  $\lambda'$  are homomorphisms, we obtain  $\lambda'_a(\pi(b)) = \pi(\lambda_a(b))$  for all  $a, b \in M$ .

Suppose that (X, r) is left non-degenerate. Then with the identification of M and M' in Example 2.2, we have that  $\lambda'_a(b) = \lambda_a(b)$ , for all  $a, b \in M$ . In this case, by [3, Theorem 2.1],

$$\lambda'_{x}(x_{1} \circ \dots \circ x_{k} \circ a) = \lambda_{x}(x_{1} \circ \dots \circ x_{k} \circ a)$$
  
=  $\lambda_{x}(x_{1} \circ \dots \circ x_{k}) \circ \lambda_{\rho_{x_{1}} \circ \dots \circ x_{k}}(x)(a)$   
=  $\lambda_{x}(x_{1} \circ \dots \circ x_{k}) \circ \lambda_{\gamma_{x_{k}} \cdots \gamma_{x_{1}}(x)}(a)$   
=  $\lambda'_{x}(x_{1} \circ x_{2} \circ \dots \circ x_{k}) \circ \lambda'_{\gamma_{x_{k}} \cdots \gamma_{x_{1}}(x)}(a),$ 

for all  $x, x_1, \ldots, x_k \in X$  and  $a \in M$ . Hence, (1) follows.

**Proposition 3.3.** Let (X, r) be a bijective (left and right) non-degenerate set-theoretic solution of the YBE. Let M = M(X, r). As usual, write  $r(x, y) = (\sigma_x(y), \gamma_y(x))$ . Let  $\nu$  be the left cancellative congruence on  $(M, \circ)$ , and let  $\eta$  be the left cancellative congruence on (M, +). Then  $\eta = \nu$  and thus, for every  $z \in M$ ,

$$\nu = \{ (\lambda'_z(a), \lambda'_z(b)) \mid (a, b) \in \nu \} = \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu \}.$$

Furthermore  $\lambda'_a = \lambda'_b$ , for all  $(a, b) \in \eta$ .

*Proof:* From the proof of Lemma 3.1, we know that for all  $z \in M$ ,

$$\nu_0 \supseteq \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu_0 \},\$$

and  $\nu$  is also a congruence on (M, +).

Let  $(a,b) \in \nu_0$ . Then there exists  $c \in M$  such that  $c \circ a = c \circ b$ . There exist  $x_1, \ldots, x_k \in X$  such that  $c = x_1 \circ \cdots \circ x_k$ . Let  $x \in X$ . By (1) (in Lemma 3.2), we have that

$$\lambda'_x(c \circ a) = \lambda'_x(c) \circ \lambda'_{\gamma_{x_k} \cdots \gamma_{x_1}(x)}(a).$$

Hence

$$\lambda'_{x}(c) \circ \lambda'_{\gamma_{x_{k}} \cdots \gamma_{x_{1}}(x)}(a) = \lambda'_{x}(c) \circ \lambda'_{\gamma_{x_{k}} \cdots \gamma_{x_{1}}(x)}(b),$$

for all  $x \in X$ . Hence,  $(\lambda'_{\gamma_{x_k} \cdots \gamma_{x_1}(x)}(a), \lambda'_{\gamma_{x_k} \cdots \gamma_{x_1}(x)}(b)) \in \nu_0$ , for all  $x \in X$ . Since (X, r) is right non-degenerate, and thus all  $\gamma_{x_i}$  are bijective, we obtain that  $(\lambda'_y(a), \lambda'_y(b)) \in \nu_0$ ,

for all  $y \in X$ . Therefore  $(\lambda'_z(a), \lambda'_z(b)) \in \nu_0$ , for all  $z \in M$ . Since  $((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \in \nu_0$ , for all  $z \in M$ , we get that

$$\nu_0 = \{ (\lambda'_z(a), \lambda'_z(b)) \mid (a, b) \in \nu_0 \} = \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu_0 \},\$$

for all  $z \in M$ . We shall prove by induction on n that

(2) 
$$\nu_n = \{ (\lambda'_z(a), \lambda'_z(b)) \mid (a, b) \in \nu_n \} = \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu_n \},$$

for all  $z \in M$  and all non-negative integers n. Suppose that n > 0 and (2) is true for n - 1. From the proof of Lemma 3.1, we know that for all  $z \in M$ ,

$$\nu_n \supseteq \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu_n \}.$$

Let  $(a,b) \in \nu_n$ ,  $z \in M$ . If n is odd, then there exist  $(a,c_1), (c_1,c_2), \ldots, (c_k,b) \in \nu_{n-1}$ . Hence,

$$(\lambda'_{z}(a), \lambda'_{z}(c_{1})), (\lambda'_{z}(c_{1}), \lambda'_{z}(c_{2})), \dots, (\lambda'_{z}(c_{k}), \lambda'_{z}(b)) \in \nu_{n-1},$$

and thus  $(\lambda'_{z}(a), \lambda'_{z}(b)) \in \nu_{n}$ , in this case. If n is even, then either  $(a, b) = (c \circ a', c \circ b')$ , for some  $c \in M$  and  $(a', b') \in \nu_{n-1}$ , or there exists  $c \in M$  such that  $(c \circ a, c \circ b) \in \nu_{n-1}$ . Put  $c = x_{1} \circ \cdots \circ x_{k}$ . In the first case, by the previous lemma, we get  $(\lambda'_{z}(a), \lambda'_{z}(b)) = (\lambda'_{z}(c \circ a'), \lambda'_{z}(c \circ b')) \stackrel{(1)}{=} (\lambda'_{z}(c) \circ \lambda'_{\gamma_{x_{k}} \cdots \gamma_{x_{1}}(z)}(a'), \lambda'_{z}(c) \circ \lambda'_{\gamma_{x_{k}} \cdots \gamma_{x_{1}}(z)}(b'))$ . By the induction hypothesis, and since  $(a', b') \in \nu_{n-1}$ , also  $(\lambda'_{\gamma_{x_{k}}} \cdots \gamma_{x_{1}}(z)(a'), \lambda'_{\gamma_{x_{k}}} \cdots \gamma_{x_{1}}(z)(b')) \in \nu_{n-1}$ , and then  $(\lambda'_{z}(a), \lambda'_{z}(b)) = (\lambda'_{z}(c) \circ \lambda'_{\gamma_{x_{k}} \cdots \gamma_{x_{1}}(z)}(a'), \lambda'_{z}(c) \circ \lambda'_{\gamma_{x_{k}} \cdots \gamma_{x_{1}}(z)}(b')) \in \nu_{n}$  (because n is even). In the second case, by (1),

$$\lambda'_{x}(c \circ a) = \lambda'_{x}(x_{1} \circ \dots \circ x_{k} \circ a) = \lambda'_{x}(x_{1} \circ \dots \circ x_{k}) \circ \lambda'_{\gamma_{x_{k}} \cdots \gamma_{x_{1}}(x)}(a),$$

for all  $x \in X$ . By the induction hypothesis,

$$(\lambda'_x(c \circ a), \lambda'_x(c \circ b)) \in \nu_{n-1},$$

for all  $x \in X$ . Hence,

$$(\lambda'_{\gamma_{x_k}\cdots\gamma_{x_1}(x)}(a),\lambda'_{\gamma_{x_k}\cdots\gamma_{x_1}(x)}(b))\in\nu_n,$$

for all  $x \in X$ . Since (X, r) is right non-degenerate, we have that

$$(\lambda'_y(a), \lambda'_y(b)) \in \nu_n,$$

for all  $y \in X$ . Hence,  $(\lambda'_z(a), \lambda'_z(b)) \in \nu_n$ , for all  $z \in M$ . Since

$$\nu_n \supseteq \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu_n \},\$$

we get that

$$\nu_n = \{ (\lambda_z'(a), \lambda_z'(b)) \mid (a, b) \in \nu_n \} = \{ ((\lambda_z')^{-1}(a), (\lambda_z')^{-1}(b)) \mid (a, b) \in \nu_n \},$$

for all  $z \in M$ . Hence, by induction,

$$\nu = \{ (\lambda'_z(a), \lambda'_z(b)) \mid (a, b) \in \nu \} = \{ ((\lambda'_z)^{-1}(a), (\lambda'_z)^{-1}(b)) \mid (a, b) \in \nu \},\$$

for all  $z \in M$ .

Let  $a, b, c, c' \in M$  be such that  $(c, c'), (c + a, c' + b) \in \nu$ . Since  $\nu$  is a congruence on  $(M, +), (c'+b, c+b) \in \nu$ . Hence  $(c+a, c+b) \in \nu$ . Then,  $(c \circ (\lambda'_c)^{-1}(a), c \circ (\lambda'_c)^{-1}(b)) =$  $(c + a, c + b) \in \nu$ . Hence,  $((\lambda'_c)^{-1}(a), (\lambda'_c)^{-1}(b)) \in \nu$  and thus  $(a, b) \in \nu$ . Therefore,  $(M, +)/\nu$  is left cancellative and thus clearly  $\eta \subseteq \nu$ .

By Lemma 3.1,  $\lambda'_a = \lambda'_b$ , for all  $(a, b) \in \eta \subseteq \nu$ . Let  $(a, b) \in \eta$  and let  $c \in M$ . By Lemma 1.1, we have that  $(c \circ a, c \circ b) = (c + \lambda'_c(a), c + \lambda'_c(b)) \in \eta$ , and since  $\lambda'_a = \lambda'_b$ , we have that  $(a \circ c, b \circ c) = (a + \lambda'_a(c), b + \lambda'_b(c)) = (a + \lambda'_a(c), b + \lambda'_a(c)) \in \eta$ . Hence,

 $\eta$  is a congruence on  $(M, \circ)$ . Let  $a, b, c, c' \in M$  be such that  $(c, c'), (c \circ a, c' \circ b) \in \eta$ . Then,  $(c + \lambda'_c(a), c' + \lambda'_{c'}(b)) = (c \circ a, c' \circ b) \in \eta$ . Since  $\lambda'_c = \lambda'_{c'}$ , we have that  $(c + \lambda'_c(a), c' + \lambda'_c(b)), (c' + \lambda'_c(b), c + \lambda'_c(b)) \in \eta$ 

and then  $(c+\lambda'_c(a), c+\lambda'_c(b)) \in \eta$ . Hence,  $(\lambda'_c(a), \lambda'_c(b)) \in \eta$ . By Lemma 1.1,  $(a, b) \in \eta$ . Therefore,  $(M, \circ)/\eta$  is left cancellative and  $\nu \subseteq \eta$ . So,  $\eta = \nu$  and the result follows.  $\Box$ 

## References

- [1] T. BRZEZIŃSKI, Towards semi-trusses, Rev. Roumaine Math. Pures Appl. 63(2) (2018), 75-89.
- [2] F. CEDÓ, E. JESPERS, L. KUBAT, A. VAN ANTWERPEN, AND C. VERWIMP, On various types of nilpotency of the structure monoid and group of a set-theoretic solution of the Yang-Baxter equation, J. Pure Appl. Algebra 227(2) (2023), Paper no. 107194, 38 pp. DOI: 10.1016/j.jpaa. 2022.107194.
- [3] F. CEDÓ, E. JESPERS, AND C. VERWIMP, Structure monoids of set-theoretic solutions of the Yang-Baxter equation, Publ. Mat. 65(2) (2021), 499-528. DOI: 10.5565/publmat6522104.
- [4] E. JESPERS, L. KUBAT, AND A. VAN ANTWERPEN, The structure monoid and algebra of a non-degenerate set-theoretic solution of the Yang-Baxter equation, *Trans. Amer. Math. Soc.* 372(10) (2019), 7191-7223. DOI: 10.1090/tran/7837.

Ferran Cedó

Departament de Matemàtiques, Universitat Autònoma de Barcelona, 08193 Bellaterra (Barcelona), Spain

E-mail address: Ferran.Cedo@uab.cat

Eric Jespers and Charlotte Verwimp

Department of Mathematics, Vrije Universiteit Brussel, Pleinlaan 2, 1050 Brussel, Belgium *E-mail address*: Eric.Jespers@vub.be *E-mail address*: Charlotte.Verwimp@vub.be

Received on February 1, 2022. Accepted on March 21, 2022.